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e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1.,0355
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@ A°] gto] Z71eHA sin A 9] gh2 AAgitt.
@ A°] gho] #A5H tan A o] g2 S71%H
@ cos A O] F&F2 0, HHZ 1010}
@ tan A °] HEFE-2 0, AL 10tk
® sin A 9] 7k} cos A 9] ZFo] Zopx]= Ao 9t



14. o= 1“%%7}01 Hkz]5-9] Zo] Y4
7F1 QA o T=Eo
H FEofl % u_ue ] 1 0724 C
Sstel OB o] dolg Fohel) 1
A
T
0 B D=
T sinz cosz tanz
43° 0.6820 | 0,7314 0.9325
44° 0.6947 | 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0855
47° 0,7314 0.6821 1.0724
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